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THE OPEN UNIVERSITY OF SRI LANKA oS
BACHELOR OF MANAGEMENT STUDIES DEG/B@E Bﬁeﬂ

MCU 1205 - MICRO ECONOMICS e

LEVEL 03 {17 aus 20m

FINAL EXAMINATION - FEBRUARY 2011 % 4}\

Date : 12" February 2011 Fime 93025 12.30 p.m.

Answer Part (A) and three questions (03) From Part B
Nou programmable calculators are allowed.
' Part A

a) Using Demand & Supply analysis, explain how the following changes affect the
market. Use illustrations.

(i) Adverse weather conditions destroyed the paddy crop in the country.
- Market for rice.

(ii)  There has been an improvement in the technology of producing Footwear.
Market for Footwear,

(iti)  The government has introduced a specific type of bag for school children.
Market for other types of school bags.

(iv)  People expect the price of personal computers to decline next month.
Present market for personal computers.

) Price of natural rubber has gone up. Market for Iﬁroducts made out of
Natural Rubber. '

(vi)  The price of Electricity has gone up. Market for natural gas.

(15 marks)
b} The Demand & Supply functions of fresh milk, given as

Qd=240-8p Qs=-48 +4p
P =price in Rupees Q — quantity in 1000 liters

i) Find the equilibrium price & quantity

i1) Suppose the government provides a subsidy of Rs. 2/=, for every liter of
milk produced. What will be the new market condition ?

iii)  If the government introduces a minimum legal price of Rs. 26/=, for a liter
of milk what will be the economic consequences of this ?
How much will this cost the tax payer ? Use illustrations to explain your
answer ?

(09 marks)



d)

(2)

00168

Explain the following

i) '  If price Elasticity of Demand for cotton shirts is -1.5, what will happen to
the total revenue, when the market price of shirts rises?

1) If Income Elasticity of Demand for Furniture is +2, how will the Furniture
sales fluctuate with income ? >

iii) If the Cross Price Elasticity of Demand for Fish and Meat is +0.8, what
conclusions would you draw from this ?

iv) If the Income Elasticity of Fish is +0.7, how would the sales of Fish
fluctuate with income?
(10 marks)

“A tax collected from sellers can be fully shifted to buyers only in the extreme
cases of Perfectly Inelastic Demand or Perfectly Elastic Supply” Do you agree?
Explain using illustrations.
(06 marks)
PartB

(a)  The details of a person’s preference of a combination of two goods, Ice
creams (x) and cups of coffee (y) given below.

Combination Qy Qx
A 15 03
B 10 04
C 06 05
D 03 06
E 01 07
(1) Draw the person’s Indifference curve and calculate the Marginal

Rate of Substitution between each combination.
(ii) Does the behavior of the consumer confirms the law of
Diminishing Marginal Rate of Substitution 7 Explain.

(06 marks)



00168

(b) Explain why the Indifference curves can not,
(D) have a position slope
v (i)  cross each other
{06 marks)

(©) “Both Marginal Utility approach (Cardinal) and the Indifference Curve
approach (Ordinal) reach the same conclusion about the behavior of utility
maximizing consumer” Do you agree 7 Explain using illustrations where

- possible.

(08 marks)

3 @ The law of Diminishing Returns states that after a certain point when

additional units of variable input are added to fixed inputs, the marginal
product of the variable input declines”

(i) Define Fixed Inputs & Variable inputs providing examples.

(i)  Using illustrations explain the stages of production in the short run.

(iii)  Provide practical reasons for the pattern in which the total product
changes in the short run.

{10 marks)
(b)  Using illustrations explain the following
(i) Returns to scale
(if)  Least Cost Factor Combination. (10 marks)

4) () State whether you agree or disagree with the following statements.
Explain your answer using illustration where possible.

(1) Firms that exhibit economics of scale have an upward sloping
Long Run Average Cost Curve.
(i) ~ When marginal cost is less than the average cost, the average cost
. is declining.
(iii)  Average fixed cost is constant at every out put level.

(12 marks)



()

(6)

(b)- The short run production function of a firm is given below. Fill in the

t

table.

Q T.C |T.F.C| T.V.C| AT.C | AF.C | AV.C| MC

0 | 120 | - - - - - -

1 R - 40 - - - -

2 - - 60 - - - -

3 - - 84 - - - -

4 - - 112 - - - -

5 - - 150 - - - i

6 - - 228 - - - - i

7 - - 314 - - - -

8 N - N - - T 1102

. {08 marks)
T.C - Total Cost AvV.C - Average Variable Cost
TF.C - Total Fixed Cost ATC - Average Total Cost
TV.C - Total Variable Cost AFC - Average Fixed Cost
MC - Marginal Cost

(a) What is the role of advertizing in Monopolistically Competitive markets ?
Explain with examples.
(08 marks)

(b) () “Under Monopolistic Competition, entry of new firms will prevent
Economic Profits from lasting” Do you agree ? Explain using
illustrations.

(ii)  Can the Firms operate in Monopolistically Competitive industry
achieve maximum efficiency in the long run? Explain.
(12 marks)

State whether the following statements are “True’ or ‘False’. Use illustrations

where possible.

(8) Monopolization of a Perfectly Competitive industry results in an increase
in product prices and a reduction in quantity supplied.
(07 marks)
(b). In the long run, in a Perfectly Competitive industry, price equals the
minimum Average Cost of producing goods. .
. (07 marks)
(©) In choosing prices and sales goals, Oligopolistic firms consider the
reactions of their rivals.
(06 marks)

- All rights reserved -
4



(P EBTEIDHSEINU
worLp03

o ufeng-2011
Amflens Gurmaiwsd (MCU 1205) Rt

)}?\::\( .__.__..._-—#”’/ i =
\f“‘m Uy st 902

Crrb : apeiiml (03) weRiighglLTeORISET

&a): 12.02.2011 GCmyb: 9.30 am — 1230 pm
P

@&aﬁlmmﬁm IMle Mg He0E i

ugd “A” s, ugs “B”ujla\ﬂ@_r,,r_r,@, 3 elenasEnd@Gd allenlwelldbs.
BEpFFAILEGSHSILL TS Sefiliurdisais UTaema igIodlbaluGd.

LI ﬂ :CA!J

0i.(a) Gmamall Mybusd SUUisyHEMmET LWELGHS, UGl WOrbBOLISET, sesurD)
Fhamsulsy, CFans@gs GFaibaid aam alas@gs. ulksmer 2 UBundlbHEms.

(M)
(ii)

(iii)
(iv)
™

(vi)

| UTEHSITE eiTaflensy Hleneosminmsit, Bl lgsd OEHULIDE SIfHSeI LS.

SIS BSBTET  FHemS.

ursenllsanst 9 MusHs GFpaisberar Gomiled B UGS gnulr
(WpHCamBEOL. LUTSHmNGEnSEETE Fhn.

UTL&FT6n6Y  oTemeliGEenabaar  oIfsmhash @obs @  eushawren
L;,E_ﬁgasu LGS SIBlpsLLESSILETS. gemeny LUbSEL enUSEHSEIen
FHenS.

S L GemaMSELEETE  Fhng  slme OIBHS  IHEE0
G NeUENLL{D 1 Y ¥ Y STEITLITT &Sl sdrmen. SHETILILL
S G EEHBET HHBLTMSL Fhengs.

Buwihens  Boiumdstar  ellimey 2 UTeuenLbaieTeng.  Swhns
@mlusmgl  LweuBHS 2 muhs) CFlwluBh  Gurml sEEnsETar
FHEn .

Bleitanrds SLLamD 2 WiieNsmLbHIeTens. BUbme amiabara Fhmb.

(15 wvjsiterilasir)
(b) Areus  uneudsten  Gmehell, w@mmprd  @ybus OemAbur@sst &G
ST (Beirerres.
Qd=240-8p Qs=-48+4p
P= alensv gpumuish .Q = Ggrens 1000 eSpmisais

(i)
(if)

Fplme ellensy LHDID CHTmasmus SHalldbs
SPFmEd 2 mugss CGeElwiudlh qabang SHpT Sireul LTendELD,
U 2/~ wreflwb euprigorulsd, LSy FEms Hlamed wirg?

AERIL N 00035

Beoniens HDHS LOGMEEIDE ;{ R\
ulLlnnginy mlsw @l'_ub



00035

(i) oysmsed @@ oODDBF UTdETE  Gmhs e FL faluren
v ellemeowms @uUr 26/= eldsgonuls, Ssear Gurmentsrr  ellenemeyssi
wiramey?

Bx afltFasHGanrme osualste OFasme 2 _aiiLTda@G? 2.8
slenLemwt eflsndEs auepIUL_BIEmsT 9 LGWIralsEmes. (09 ysirarilseir)
(c) Uamsumenenenbenm eflens@eab.

) CerlLer BrlBosenbarar alasoFnt Osaell QRSpFH — 15 s
Gwiis, Gl fa@éEsre ghomg eleme S@Ssfldgn  Gurg, Gl
sipusnenurefss QTSHS suBLOTETSHSIBE 6Telen Bia(pLD.

(i1) SETUTL Gldesia, su@porend Fri Gseiell GHADEFS +2 o6 @EULTsT,
HEMUTL.  aDLIEHET, SIHET GUFRDTENSHSIL 6T 6TelsuTIY HENDUEIL WD 6165
e 5.

(i) 1Ss&r ompd SemER  asivabiddlmiuisoter @UISGS  Cssal
QrasipsFdl + 0.8 aalar, B&lefimha BF GUBE Suigiu (pgeyseT Wirsnsy?

(v) . Ugubsren sugptone GpSb&FS +0.7 eralls, el efijusnar oG
SU(HLOTENSHIL-GT STEUEUTHR  SHETDLISIEDL WD, (10 ysieM&eiT)

(d) “ypew GEpabFd oimm Gmeiell oisbeog Lyew HFbusd GRESDFH 2_emLw
Beneuseilsd tor” BGio, el snanITeTT s LlRHE Smail_OL{i,
sufneng, Lyemnons, [HisiGeurghde ormmOL apgub”. Ssene  gimpis
Garedlamign? o _1bs el syenyuULRsEn e ellsndgs. (06 LsiteMssiT)

LI @ ﬂ “B!)

2. (). o mufler mebd &b (X) womod, Gsril Gardsnusst (y) s G
GurpLlseaisn alglus Bsismsssr &6 syl Geiteme.

Boroama Qy Qx
A 15 03
B 10 04
C 06 05
D 03 06
E 01 07
) @5 Eumsstsm  Fwouwss  susmenuflenwy  (indifference curve) eusmrbEI .

@eubeur Corsamnsh@onar eemey FHuilf elflssmsds (Marginal
Rate of Substitution) sanfllé@as.

(1) pEilamflar H_Smaswrasl Gepba OFsbaub esvamen Llysuil G
oM@l &eng (Diminishing  Marginal Rate of  Substitution)
9_mIEILBEHEHIISTE 2 _6TsTHT 660 aleNdEHE. (06 jsitefisaiT)

(b) FwLwen susnsTUlSsT
i) G sflmanmLwusts EBmbars (positive slope)
(1) @eenpCWrED FhSHs DFLLTH.
Bsumemm alleTdEas. (06 v|gesEsiT)



00035

(¢ ) “erabemenll LIS SIEDIGUPED (SMTlpRTsh) WBEHID, &0 LW susnenul
DMGWMD (Pigansd) PSU Bn IGUHDEEED 2 F& Lumear oW
sﬁl(@ibufn, BisiGaumi  Gerifure @Cr (pya@mmBL  wom_asmsr”. B\ wHeman
ghpiE Cersisleamigm? QUIGSGSDTET eUamFUL BISEHLET a6 Es.

(08 ysirefimsir)

3. (a) “oNss 86 aemeGEiLTeD, Hensowrer o eeiBoEErlol, LMD o s e
DIHEFEBGID Buml, LoD 2 _siteffil(Gedammen 6TEVEMEY 9 _BuhHg
GmmaumL SldpE”  aauSmaGL Gmphol CFagud ellmeey 60 (Law of
Dimnisions returns) eflend@ala@ims.

(1) BENEOITET D@D WOTDID 2 sl sEib LGRsameT 2T SO0 ETHL 60T

ellenicb @,

(ii) GURETD 2 BUSSH SILBIGMET QUITIHHHIONET 2 HTyammbisETL 6
allen&HEm.

(ii) oGomsre Qoriss e pusHulsd  gBUGD  omho CurssbaTen
SIJEIRIGENET  leToH@EHE. (10 ystreMassi)

(b). Uisireu@usmaubeny susHILIL BISEDLET o @s.
(i) smayball L silmensy (Return to Scale)

(i) BYnE Grevey smfemicsiiar Gsismas (Leaset Cost Factor Combination)

' (10 ysirefssin)

4. (a) Jsiiuesld safpibsenLe B o | amGaifim oedaos Ee0meuwr s axfleTres & .
GurmSsorer G missfled suemrULfisamst o LGNS s,

(i) Hassen allmeney eflsflenw (Economics of Scale) feiLimmin BIIGERIE 6T,
Guopum Fflasien  Bai &6 ayreflE GFvey susnsmulamul 2 eNLWIHTSE
BmEELD.

(ii)  ewoemevs QFevey, &rmeflF GFasmeraiL Gapans Besgh Bursl,
FnaflF GFes) GamalemLLb. '

(i) ewbeor  Qeuefuil® U Lmsefsd,  &gred Gwrsss  CFsuairsmg,
Hemaowirs S mabEib. (12 yestrerilssir)

(b) g6 Poamsia enustm 2 Hpuss CsniburG 60 SILUESDE.
SIC L auemaRTsnL)  [BIFLiLeE.

Q GiomGle | GromB.QF [ Quom.wn.Os | &8.0F | &.0m0F | &.0wr GF | o0
0 120 '

1 40

2 60

3 84

4 112

5 150

6 228

7 314

8 102




00035

Gl GF - - QursssF CFeosy
t Glomp.GlF Qords Bensowmer Glason)

Qumor.Gs -  Qomgs wrpd  GFeusy
o EHLEF - ggrafl Hlemsowimen Grsve
- &.10m.GF - FrrEfl rpnb OFavay
&.GLor. OF - gyrsfl QorsHosE GFavey
6.6l - sleuensRsF  LFsuey (08 vsitarfissiT)

5. () sefluyflemol  Gum s  Fhmeulsd, sfembupiuBSsHeladr  ukig  wirEs?
9 HTFEmIBIBETHL.6T a6 @b, (08 yefisriiessi)

(b) (1) “weiuflenols Bum_ig&F FhansUilsd, L& 15\ ISy aoIes sTT65T
2_seupamsireag, Gurgeiiust Georudbssler Hlisnsowmanr SeilanioenUILl -
Lrea@h”. Semen gnhms Gersndnign? euengulfisest 2 WGBTS
sl e @& H.

(ii.) selyfenwn’ Gumys Fhmsulsd QFuLBUBL @m HrsenD,
| BeNILETGHR 2 FF 2 hussdsanmen oiemtiupiguior? ellsmdgs.
(12 ysitefssin)

6. Ueiteuestd snpmidsst Fflwn, dempwr eeid  ws. Coemenunar  FhSTUILRISTED
sUEMILIL RGensT 2 _LBUTSSES.

(a) Memp  Gum sy sFhmsbwnanis sefyfeowwrssorams, Gurger  slsnso
s NIDEn, Brous GErme @GmpUSIBEGL STTemmoTs SienloalemeT.
(07 usitstilseir)
(b) @@ Menm Bun s FHmsuled, Bl &TaHms CBrégh Gurgl, elensoliTergi,
Curglssmer 2 _Mmusgs Oelsishsrsn @Gopbs Uls Grsslig Fonrasns
Besa.
(07 ysiteiessit)
(c) aflemsv  wPmID, elpusner GUiGGsETsisamen Qsfiley CFlimsulsd FHemhanins
shemsWieystsn  Pipeuemisst, &Hoa Gumlly Hineuermsshsn  GQeuwibur@sane
BHHIHs0 CEreralaEmen. (06 LsitarlsmeaiT)

(UZiLflenioi e 1wig)



